
TB-1丨Quick Guide

Software & applications

Install SimPro Manager

on PC to complete setup

Product Tutorial
(Scan the QR code to view more)

Note: SimPro Manager required to complete setup

USB data cable X 1

Elastomer kit X 1

Button Head Socket Cap Screw M6-14 X 4

Roll in T-Nut with Ball Spring M6-40 X 4

Allen Key (2mm/4mm/6mm) X 3

M3-14

M6-14

2.2 Elastomer Swap 2.3 Handle Adjustment

Next, install the 
desired elastomer 
to adjust the 
resistance of the 
Handbrake.

First, remove the 
washer and 
elastomer.

Remove the M6-14 bolts, 
flip the position of the 
handle, then re-insert the 
bolts and tighten.

Fine-tune the angle of the handle.

The handbrake can be 
mounted using M6-14 bolts.

M6 Bolts only 
(Maximum length is 20mm.)

M6 Bolts only 
(Maximum length is 20mm.)

Bottom View

USB-Type-C Socket 

1. List of Accessories

1.1 List of Standard Accessories
① Mounting the handbrake. 

(Note: The L-Shaped mounting plate can be purchased separately.) ① Remove the front plate.

2.3.1 Adjust the lever.

① Remove the lever. ② Flip the lever.

2.3.2 Switching lever position

③ Swap the elastomer.

② Remove the bolt.

(Note: Make sure the power 
is OFF during the replacement.)

② Product connection ports.

2. Installation Method

2.1 Product Assembly

Multifunctional L-Shaped Bracket X 1

Button Head Socket Cap Screw M6-14 X 4

Countersunk Head Screw M6-14 X 4

Roll in T-Nut with Ball Spring M6-40 X 4

Allen Key (4mm) X 1

P-LOK:

1.2 List of Optional Accessories

https://manuals.plus/m/ae467feac605a90e2b4ed872d8e30d7e6a27ed069ea5198431460b2a77f9b651

